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　　一、改錯字
L8
 eq \o(\s\do 0(１)) 《答案》據
 eq \o(\s\do 0(２)) 《答案》凰
 eq \o(\s\do 0(３)) 《答案》署
 eq \o(\s\do 0(４)) 《答案》碑
 eq \o(\s\do 0(５)) 《答案》據
 eq \o(\s\do 0(６)) 《答案》脫
 eq \o(\s\do 0(７)) 《答案》仍
 eq \o(\s\do 0(８)) 《答案》陸
 eq \o(\s\do 0(９)) 《答案》拭
 eq \o(\s\do 3(１),\s\do -3(０)) 《答案》源
 eq \o(\s\do 3(１),\s\do -3(１)) 《答案》距
 eq \o(\s\do 3(１),\s\do -3(２)) 《答案》簽
 eq \o(\s\do 3(１),\s\do -3(３)) 《答案》穎
 eq \o(\s\do 3(１),\s\do -3(４)) 《答案》查
 eq \o(\s\do 3(１),\s\do -3(５)) 《答案》析，資
 eq \o(\s\do 3(１),\s\do -3(６)) 《答案》穎，仍
 eq \o(\s\do 3(１),\s\do -3(７)) 《答案》碑，裔
 eq \o(\s\do 3(１),\s\do -3(８)) 《答案》碑，拭
 eq \o(\s\do 3(１),\s\do -3(９)) 《答案》資，距 
L9
 eq \o(\s\do 0(１)) 《答案》澤
 eq \o(\s\do 0(２)) 《答案》狹
 eq \o(\s\do 0(３)) 《答案》瀑
 eq \o(\s\do 0(４)) 《答案》孤
 eq \o(\s\do 0(５)) 《答案》執
 eq \o(\s\do 0(６)) 《答案》喧
 eq \o(\s\do 0(７)) 《答案》猛
 eq \o(\s\do 0(８)) 《答案》擇
 eq \o(\s\do 0(９)) 《答案》遷
 eq \o(\s\do 3(１),\s\do -3(０)) 《答案》悠
 eq \o(\s\do 3(１),\s\do -3(１)) 《答案》湍
 eq \o(\s\do 3(１),\s\do -3(２)) 《答案》狹，執
 eq \o(\s\do 3(１),\s\do -3(３)) 《答案》域，遷
 eq \o(\s\do 3(１),\s\do -3(４)) 《答案》銜，獵
 eq \o(\s\do 3(１),\s\do -3(５)) 《答案》鶇，域
 eq \o(\s\do 3(１),\s\do -3(６)) 《答案》沼，澤
 eq \o(\s\do 3(１),\s\do -3(７)) 《答案》潭，湍
Ｌ１０
 eq \o(\s\do 0(１)) 《答案》鯨
 eq \o(\s\do 0(２)) 《答案》威 
 eq \o(\s\do 0(３)) 《答案》恆
 eq \o(\s\do 0(４)) 《答案》哺
 eq \o(\s\do 0(５)) 《答案》肪
 eq \o(\s\do 0(６)) 《答案》矯
 eq \o(\s\do 0(７)) 《答案》軀
 eq \o(\s\do 0(８)) 《答案》棲，捷
 eq \o(\s\do 0(９)) 《答案》警，蹤
 eq \o(\s\do 3(１),\s\do -3(０)) 《答案》構，棲
 eq \o(\s\do 3(１),\s\do -3(１)) 《答案》偵，警
 eq \o(\s\do 3(１),\s\do -3(２)) 《答案》警，矯
Ｌ１１

 eq \o(\s\do 0(１)) 《答案》譟，邀
 eq \o(\s\do 0(２)) 《答案》吞，葵
 eq \o(\s\do 0(３)) 《答案》錨，恐
 eq \o(\s\do 0(４)) 《答案》鏽，筒
 eq \o(\s\do 0(５)) 《答案》譯，泛 
 eq \o(\s\do 0(６)) 《答案》琉，璃
 eq \o(\s\do 0(７)) 《答案》邀，涵
 eq \o(\s\do 0(８)) 《答案》珊，瑚
 eq \o(\s\do 0(９)) 《答案》窺，牧
 eq \o(\s\do 3(１),\s\do -3(０)) 《答案》壇，恐
 eq \o(\s\do 3(１),\s\do -3(１)) 《答案》博，泛
 eq \o(\s\do 0(１)) 《答案》逆
 eq \o(\s\do 0(２)) 《答案》遂
 eq \o(\s\do 0(３)) 《答案》勁
 eq \o(\s\do 0(４)) 《答案》逸
 eq \o(\s\do 0(５)) 《答案》峭
 eq \o(\s\do 0(６)) 《答案》崇
 eq \o(\s\do 0(７)) 《答案》墮
 eq \o(\s\do 0(８)) 《答案》邃
 eq \o(\s\do 0(９)) 《答案》凝
 eq \o(\s\do 3(１),\s\do -3(０)) 《答案》厲
 eq \o(\s\do 3(１),\s\do -3(１)) 《答案》遂，愕
 eq \o(\s\do 3(１),\s\do -3(２)) 《答案》勁，凝
 eq \o(\s\do 3(１),\s\do -3(３)) 《答案》逆，墮
Ｌ１３
 eq \o(\s\do 0(１)) 《答案》概
 eq \o(\s\do 0(２)) 《答案》概
 eq \o(\s\do 0(３)) 《答案》摯
 eq \o(\s\do 0(４)) 《答案》遐
 eq \o(\s\do 0(５)) 《答案》遐
 eq \o(\s\do 0(６)) 《答案》恬
 eq \o(\s\do 0(７)) 《答案》墜
 eq \o(\s\do 0(８)) 《答案》暮
 eq \o(\s\do 0(９)) 《答案》誼
 eq \o(\s\do 3(１),\s\do -3(０)) 《答案》詠，遐
 eq \o(\s\do 3(１),\s\do -3(１)) 《答案》掩，概
 eq \o(\s\do 3(１),\s\do -3(２)) 《答案》藉，擅
 eq \o(\s\do 3(１),\s\do -3(３)) 《答案》藉，寞
Ｌ１４
 eq \o(\s\do 0(１)) 《答案》顫
 eq \o(\s\do 0(２)) 《答案》緒
 eq \o(\s\do 0(３)) 《答案》抵
 eq \o(\s\do 0(４)) 《答案》撫
 eq \o(\s\do 0(５)) 《答案》窄
 eq \o(\s\do 0(６)) 《答案》奔
 eq \o(\s\do 0(７)) 《答案》甦
 eq \o(\s\do 0(８)) 《答案》懼
 eq \o(\s\do 0(９)) 《答案》幢
 eq \o(\s\do 3(１),\s\do -3(０)) 《答案》脊
 eq \o(\s\do 3(１),\s\do -3(１)) 《答案》脊，撫
 eq \o(\s\do 3(１),\s\do -3(２)) 《答案》夥，毯
 eq \o(\s\do 3(１),\s\do -3(３)) 《答案》澗，啁
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